Properties of Logarithms [PT 99-26]

Express the given log as a sum of simpler logs.

1) log, (rst) 2) Iogeé 3) log, y°
5 r’s
4) log,n ¢ 5) log, (uv*w’) 6) log, =
X3y5
7) log, 3/mn 8) log, {|— 9) log, (xy +2°)
27r%s
10) log, e

Write the given expression as a single log.
11) log, x+1log, y 12) log, x—log, y

13) 4log, u+7log, v 14) 2log, 3+log, 4
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X z 1
15) log, §+ log, %— log, E 16) §(|09b x+log, y)—2log, z
1 1
17) 5log, u _(5 log, v+log, wj 18) Zlogb x—log, y—log, z

Evaluate the following logs given that log,2 = 1.2, log,3 =1.42, and log,5 = 2.1
19) log, 15 20) Iogbé 21) Iogb% 22) log, 125

23) log, 1000 24) log, 32 25) log, /18

Answers: 1) log, r+log,s+log,t 2) log,4—log,7 3) 6log,y 4) —g
5) log, u+2log,v+7log,w 6) 3log, r+log,s—5log,t 7) %Iogber%Iogb n

3 5 1 ) 3 3 1 5
8) Zlog7x+zlog7y—zlog7z 9) log, (xy+2°) 10) §+§|093F+E|0933—§|093t

11) log, (xy) 12) log,~ 13) log, (u*’) 14) log,36 15) log, 5;“’ 16) log, Py
y

127 z7?
5 4
17) log, ——  18) |ogb£ 10)352 20)-09 21)-2.1 22)6.3 23)9.9 24)6 25)2.02
WA/v yz



